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ECONOMY D.

It defines economic growth and

1. Which among the following is not a inequality

feature of capital market? 5. What is an INFLATIONARY GAP

A. Financial instruments with short A. Current real GDP higher than

maturities (less than one vyear) are potential GDP

traded. B. Potential GDP must be higher than real

B. In the primary market company sell GDP

new shares and bonds for the first time C. It happen when over production of

i.e. IPO goods occur.

C. In the secondary market investor D. It leads to fall of price and leads to

started buying and selling securities unemployment .

among themselves 6. Choose the INCORRECT among the

D. Here securities of medium and long following with regarding to FINANCIAL

term of more than 1 year are bought and STABILITY AND DEVELOPMENT COUNCIL

sold A. It is not a statutory body

Broad money refers to which of the B. It is the interface of FATF

following C. Chairman is Finance Minister

A. Currency with the public and demand D. It looks into the matter of fiscal policy

deposit of public with the bank of government

B. Currency with the public and demand  7._Which is correct about SARFAESI ACT

deposit of public with the bank jand 2002

deposit with the post office saving banks A. It is'applicable to agricultural land

C.—Currency' with public and demand B. CERSAI is a government company

deposit of public with the bank and time under it

deposit of the public with the bank C.udt vapplied when the outstanding

D. Only total deposit with the post office amount cross 10%

savings bank D. It has to take permission from court .

Which of the statement is correct 8. Which is not a part of MISSION

regarding “green GDP” ? INDRADHANUSH?

A.-Green GDP is the measurement of A. Recapitalisation of bank

GDP growth with the environmental B. Introducing ESOP

consequence’s of that growth factored C. To maintain capital adequacy

in D. Setting up of bank board bureau

B. It is an initiative by ministry of NEW 9. what is a currency swap agreement?

AND RENEWABLE ENERGY A. It is between IMF and central bank of a

C. It comes under biological diversity act country

2002 B. It an open-ended credit line from one

D. It refers to the expected monetary country to another at a fixed exchange

value of the biodiversity in a country. rate

Philips curve define which of the C. It happens through stock exchange of

following both the country

A. Inflation and unemployment have a D. It leads to an unstable market

stable and inverse relationship 10. Which among the following statements is

B. Unemployment and GDP growth has not correct about international financial

inverse relationships services centre (IFSC)?

C. Distribution of income or wealth A. It’s headquarters is in Copenhagen

within a population B. all members of IFSC will have 6 year
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term .

C. Banking, capital market and insurance
sectors regulator are unified under IFSC
D. It only deals with developed countries

ENVIRONMENT

Reason (R): Organic forming utilise
alternate practices.

Select the correct answer from the codes
given below:

A. Both A and R are true and R is the
correct explanation of A.

1. Which of the followings is not a biotic B. Both A and R are true but R is not the
component of environment? correct explanation of A.
A. Symbionts C. Ais true but R is false.
B. Parasites D. Aiis false but R is true.
C. Geologic substratum 7. Consider the statements
D. Man 1. Bergmann’s rule relates body size in
2. Bureau of Energy Efficiency (BEE) is a exothermic vertebrates to average
statutory body under the environmental temperature.
A. Ministry of Power 2. It states that individuals of species in
B. Ministry of Commerce and industry cooler climates tend to be larger than
C. Ministry of new and renewable energy those in warmer climates.
D. Ministry of corporate affairs Choose the correct option
3. Smog is a combination of various gases A. 1lonly
A. Of carbon dioxide and B. 2 only
chloroflorocarbons etc. C. Both 1 and 2
B. with water vapour and ozone D. Neither 1 nor 2
C.with water vapour and dust 8. Consider the statements
D. Suspended particulate matters 1. All elements. occurring in organisms
4. Which one of the following is the best are-part of biogeochemical cycles.
description of the term ‘ecosystem’? 2. Nutrient cycling is the movement of
A. A community of organisms.interacting elements through only biotic
with one another. components of the Earth Choose the
B..'That part—of the Earth which is correct option
inhabited by living organisms. A.1only
C. A community of organisms together B. 2 only
with the environment in which they live C.Both 1and 2
D. The flora and fauna of a geographical D. Neither 1 nor 2
area 9. National Green Tribunal became a
5. Consider the following kinds of organisms statutory body through
1. Butterflies A. The Wildlife (Protection) Act of 1972
2. Bee B. Environment (Protection) Act, 1986
3. Moths C. National Green Tribunal Act, 2006
Which of the above is/are pollinating D. National Green Tribunal Act, 2010
agent / agents? 10. Eutrophication causes reduction in
A.1and2only A. dissolved oxygen
B. 2 only B. nutrients
C.1and 3 only C. dissolved salts
D.1,2and3 D. all of these
6. Consider the following statements:
Assertion (A): Organic farming reduces
the emission of greenhouse gases
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CURRENT AFFAIRS
1. Considered the following statement

Which of the statements given above
is/are correct?

regarding Mahoba Gaura Patthar a) Only1
Hastashlip, which get Gl tag recently: b) Only2
1. It is a stone craft and is made of c) Bothland2
radiant Pyro Flight Stone. d) None

2. Use only white-coloured stone.
Which of the above statement is/are
correct?

a) Only1

b) Only 2

c) Bothland2

d) None

Consider the following statement:

1. The Union Minister of Ports, Shipping
& Waterways launched ‘Sagar Samajik
Sahayyog’'.

2. It empowers ports to undertake
Corporate Social Responsibility (CSR CSR
activities directly.

Which of the above statement is/are
correct?

a)-Only1

b) Only 2

c) Bothland?2

d) None

Consider the following.statements:

1. The MeiraPaibis ‘are also known as
Mothers of Meghalaya.

2.—Meira Paibis role as society’s
conscience keepers is widely
acknowledged.

which of the above statement is/are
correct?

a) Only1

b) Only 2

c) Bothland2

d) None

Consider the following statements
regarding the Indian Ocean Dipole (IOD):
1. 10D is a much stronger system than El
Nino, and thus has stronger impacts over
El Nino.

2. 10D is said to be positive when the
western side of the Indian Ocean, near
the Somali coast, becomes warmer than
the eastern Indian Ocean.

Tam Pa Ling cave, which was recently
seen in the news is located in which
country?

a) India

b) Laos

¢) Myanmar

d) Syria
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